8 | 7 | 6 | 5 ¥ 4 | 3

f—
N
=
—

0375 1] ONo (NOT INCLUDED)
[0.375 in]
76.28 mm
87.33 mm [3.003 in]
[3.438 in]
30.48 mm N ISOMETRIC VIEW (EXPLODED)
[1.200 in] :
TOP VIEW .
: g @
: (3) #6 EXT. TOOTH WSH. (4) #6 FLAT WASHER
10.74 mm p
[0.423 in] 0
4 N\ o
(@) ; @ @
' . | : (5) #8 HEX NUT (6) #8 INT. TOOTH WSH.
31.75 20.93 43.64 23.01
[1.250?:31 Q [0-82l4T1T [1.718T1T ]“' =" [0.9(;6?1? \/' \; v
1
y, (7) 6-32 x 1/2" SCREW (8) 8-32 x 1/2" SCREW
— DETAIL A
74.63 mm @ v
[2.938 in] '
(1) REAR SUPPORT BRACKET 1090 NUT 101032 S screw
FRO NT VI EW SIDE VI EW (NOT SUPPLIED) (NOT SUPPLIED)
RM1U18BRKT
A 508.00 mm 2 x Extension Bracket - 16 GA. Steel (Black)
[20.000 in] 8.33
_ 46.558{n3n_1 TYP_ [0-328”?2] 2 x Rear Support Bracket - 16 GA Steel (Black)
[1.813 ) Hardware as shown above*

HAMMOND
MANUFACTURING w |,

RM1U18BRKT

www.hammondmfg.com

—
$ 19.05 mm
@ /@ O O ¢ [0.750 in]
y }
6-32 PEM NUT (ZX)/

(2) REAR EXTENSION BRACKET D‘*[-gigg?nggx>/ FRONT VIEW
SIDE VIEW

8 | 7 I 6 | 5 Q 4 I 3 | p) | T




	Sheets and Views
	RM1U18BRKT-Model


